000

N\

precision. MIT

Rollar Precision Guide Post Sets

RIRABEE Rt LAY
l -0.018
D -0022
T T
T T ! '
D2 D-0.5 D1 Digs n D
= U | Dz |
S Mxe T|
E 1 ﬁ..‘ L211]
-+
4 L3 L1 L
Type \YEYCTE] Hardness Delivery
mEa ME 1EE REH
SUJ2-Post+Bush+Needle Roller
HE- S+ BERHWME
SWP-B-Spring
- 7 Working Days ( By 4 Set)
HW-GRG HRC60~ - Post/Bush 7 ET/ER (44)

S45C-End Cap
chixi-EER A
S45C SPC-1-Movable Stopper
Rkl SPC-1-oJEhiE

Bush Spring Ball Retainer Post
BE EE HKME Bit
g o
=)
D3 001 0 E :L; 35" ’ —:_ a
Constituent _ i L4 S {%LS i
Parts M) ﬂ] D] 13 sle L
BAREG J 11
L. . | HEH -
il g
m oy ¢ 33
I~ — I - —~ o
L4
L3

I B 1242
13 | 50/60/70 20 | 17 | 24 | 10 7 8 4 30 | 25 5 M6x15 M6x15 - -
16 | 50/60/80 23 | 22|30 | 10 7 10 4 40 | 30 5 M6x15 M6x15 - -
HW-GRG 20 | 90/100/120 29 | 28 | 37 | 15 | 75 | 14 7 50 | 40 5 M8x18 M8x25 24 | 17
25 | 100/120/130 | 36 | 35 | 44 | 18 9 14 7 61 | 51 8 M8x18 M8x25 29 | 21
32 | 120/140/160 | 44 | 40 | 54 | 23 |115]| 16 8 73 | 63 | 10 | M10x22 | M10x30 37 | 28

Order Ex. z1H&&EHA]
HW-GRG-D-L-I

Further dimensions on repuest
RERITEBEZERK - BUDEH

X u=unit



